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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question.

(D) (C) (B) (A) QUESTIONS Q.1
L S WY o =1 drre 2 SL2E e Ut Uik S sz | 1
Amphysema Bronchitis Pneumonia Asthma -
Which of the following respiratory disorders is
caused by bacteria
g 3} s NedD3 gl Wi Bae sy | 2
Algae Ferns Mosses Xerophytes | Plants which grow in arid environment are
called
oy e g 1o ! SR E b S S| 3
Reading Walking Touching hot Drinking In which of the following actions impulses are
object water not carried to the brain
A Fll3 (A3 GEL e Ml Bk e Slumt s | 4
Goiter Diabetes Dwarfism Acromegaly |Lack of harmone somatotrophin causes
disease
PPy, &y e’ Sh gl U e e S| B
Bone marrow Cartilage Ligaments Tendons | Which of the following tissues join the
muscles to the bones
D A ! Fas s | (ot e T3 E S| 6
Fragmentation | Binary fission Budding Regeneration < L“l.pn(:ﬁ
In which of the following asexual reproduction
methods an organism divides into two
! éﬂfx .'dfu 3 JTU@. .‘4).‘.55) ugj)"j{.’:s(}f um‘jgxﬁ 574}.’? K .,Af J{’ ‘j.‘}l/ UU[L o J::'.y,w,v% Z u%dgf 7
Ve Z1 Z 7 —dedy
Two tube Two tube Tube nucleus | Tube nucleus | Which of the following structures present in
nuclei and two | nuclei and one and one and two the pollen tube after pollination
sperms sperm sperms sperms
L FF R Yyt Sy 6| 8
6 5 4 3 S
If the genetype of a plant is Rr Yy, how many
types of gamets can be formed ?
B, FE 5L G ke Gty T7| 9
Translation Transcription | Transpiration | Transduction |Massenger RNA is produced by the process
(ol el U e Eiviik —e JefiS ez g| 10
Antamoeba Ascaris Cuscuta Plasmodium [An example of exoparasite is
BNy St e i ce Py I IS A o | 11
Interferon Tubulin Albumin Insuline Which of the following is an antiviral protein



http://www.result.pk

£ PRIt Js g AF L/U:’/gw(j/-.'-_auli.«.'ggf(i Gl e i
e e UL

Cytoplasm DNA Cell wall Cell Cephalosporins is a group of antibiotics.

membrane | Which part of bacterial cell is destroyed by

these antibiotics.

12

(II)..w!';du’l’J? (m,2012-14uﬁ~“uf’3) i esle ’lw!)wu/d;u

634 F & 2452
Part 1 J;l -
2. Attempt any Six parts from the followings:- (6x2=12) _q/}/’g!,izé 1218 (3;(:_ U Jj Lo -2
(i) Write four symptoms of respiratory disorder <M¢ijg Jlx: th Sk JJ’V 0]
Amphysema.
(i) What is trachea? Describe its sructure. _q/uy. =30 d/u'l Ut icf g@’ (ii)
(i) How passive smoking can be injurious to health? S n ol LSS S B v il
(iv) Differentiate between osmoregulation and ‘e 3/} l[ui’ ﬂf/r}/;lﬂf/ﬁl (iv)
thermoregulation.
(v) How hydrophytes get rid of excess of water from U z_/d/ LIA1E d o K :_iu'*’ bu/"g (v)
their body? Give one example.
(vi) What is lithotripsy method of removing stones from e Yy PR e U/ (vi)
kidneys?
(vii) How ears maintain the balance of body? Sur 2 (/b“d/wii Kﬁu( (vii)
(viii) From where thyroxin harmone is secreted and what e e/ (K lf,/; 0y ulfuwt u/@dw (viii)
is its function?
(ixX) What is paralysis? Write its two causes. -uﬁ”g@gﬁ; 2 J JISe sty y/; éu (ix)
3. Attempt any Five parts from the followings:- (5x2=10) .J//f.,diél/ I éu edfe Sits -
(i) Write the names of bones of human appendicular u'“‘ir Z u;udb z_lad o u"'c)* ,VIL Gl (i)
skeleton.
(i) What are tendons? What is their role in the body? e bw e Ut e AU ()
(ii) How osteo arthritis is different from rheumotoid S w2 S AT AT i)
arthritis?
(iv) What are endospores? Write names of two types of &, - u?uf‘g,'t Z g/;é. Z (ﬁ” Seslp y/a, Ju skl (iv)
bacteria which forms such spores. Ut
(v) How new plants are produced by grafting? Give one  —(/» J& L1 &6 & 14 4/;»;&{_/55 G ()
example.

(vi) Define alleles. Give one example. o Jt’»u@q/.gﬂfyk’u (vi)
(vii) What will genotype and phenotype of plants PASYPRN Y SALhsst Kyl G NIy ,;ngu (vii)
produced as a result of cross between a true breed l“/bf’t’}:"/:l .{”L*iﬁ‘?d/u»g Ll wix ?ngy/u'l/c;
round seeded plant and true breed wrinkled seeded ?gf

plant?
(viii) Describe two main sources of variations in _Q/uy. éusz,z ys cfl/é?uf d;g” (viii)
population.
4. Attempt any Five parts from the followings:- (6x2=12) _q)}/’agmé 171 ég = é:’/a, o J’j Cn -4
() Explain the limits of biosphere. el e SAYL ()

(i)

Draw a diagram to represent food web and write b Z Uil JEUE U uf/tz J/’“i Z L//;U;/./,; 39

names of organisms in it. _u:“‘i

(ii)
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(iii) Differntiate between Ammonification and
Nitrification.

(iv) Define rmentation. Write names of its two types. -u:“ir“cé (Lﬁlu meq/.;uﬂ!uﬁ?’) (iv)
(v) By which bacteria formic acid is produced? Write w15 L L2l 09 S bl U Mo e | 26 U020 (v)
two uses of formic acid. _u'f‘i
(vi) What is recombinent D.N.A and how it is produced? fe bl Ll C/’J; st ':d/dfz,l_w_d;‘ Mu,{d/ (vi)
(vii) Why vaccines are used? Write names of two /fg) 2L u’uf’ir' Zugile syt &lg S U et (i)
diseases for which vaccines are used. - [}n JLJ*I
(viii) What is Marijuana? Describe its two effects. -Q/uy. =l e y/(f;b? S gf::) (viii)
Part 1I (2 -~
Attempt any Three Questions (7x3=21) -u:/;/f.:,;lﬁﬁ aﬂlruf:.. L}f N
5. (a) Explain two methods by which plants exchange & Jsi Kurfu: Uy U P el Susbuu() -5
their gases. [4] -

(b) How halophytes maintain the balance of salts in U 29 (/La“d“/u/‘ii Ko.l{("ui ()’2;_i ﬂu}; (&)

their body? [3]

6. (a) Describe the structure of neuron. [4] -Q/ul“/. @3l due (LD -6
(b) Explain three types of Arthritis. [3] Il UAATE £ ()

7. (a) Describe the changes which take place from s dw FE gy A1SL o u’»’dg usy b JE (D) 7
pollination to the formation of embryo in a flowering <u"/ul~/. u"L&,«;
plant. [4]

(b) Explain the process of spermatogenesis in _qf_yu, d/ u’“’yif‘/,ui’ u)/jl?(b'f)
animals. [3]
8. (a) Explain Mendel's law of independent assortment wolos § esdlf i (S5 UTot Jir e su S B (LID -8
with an example. [4] «Q/’/
(b) Compare Parasitism 1o that of Mutualism. Give -/ Ji ol Skl r-f /2 itre cH ez ()
one example of each. [3]
9. (a) What is single cell protein. how it is produced Ut b6 U 4/4,19 Qo lffuf’;4 FE () 9

and what is its importance? [4] S el

(b) What are antiboitics? Explain its two types.[ 3 ] -q/_wu, Jrlﬁlu Sur 01 dse L/'/J‘;:’L G (&)

S Ee S HE S A i


http://www.result.pk

Part ]| (Practical Part) (r -~

Attempt any two Questions (5x2=10) ..u:/';"fo@lﬁé e Ulyne Ji( ey
10. (i) (a) Write the procedure for the experiment ZAIT 33 K e s bl L LA ) (i) -10
showing presence of carbon dioxode in the <u:“‘@(:ag/ KU _7,7,'}:? 2L diﬁrd/
exhailed air. [3]

(b) Which compound is formed when carbon ¢ U’r?% O 42 T35 ok dg §i sz ()

dioxide is added to lime water. [2] e D Aaf

(i) (a) Draw a labelled diagram for Binary fission in ¢t £ Us="Z U1t b B2 0P8 4L Ut et (L) (i)
Amoeba. [3] e
(b) Differentiate between Budding and Binary SIS (jﬁ’dﬁ' s F5()
fission. [2]

(iii) (a) Write the procedure of stem cutting in rose -uf’@(;zg/’ K& (Stem) (b’ui;»; Z () (i)
plant. [31]
(b) Name two such plants (except rose) in which #45 § o7 g Je Jum; e HonLl < ()
vegetative propagation is carried out by stem ~& b JL»?'“i;é' yd1 g (Stem)(b’ o~ u’é‘)“

cutting. [2]
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